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; 100kN/M#%#BZ % - -~ -|3mZEBZS ~ - -| 100kN/m%#8Z% % - ~ -|3mZ#BZ S ~ -
ZFhLs ~ zh s ~ Zh s ~ Zh LS ~
2 100kN/mM##BZ % ~ -|3mZEBZS ~ -| 100kN/m%#8Z% % ~ -|3mZi#BZ S ~
Zhnst ~ Zhn s ~ Zzh st ~ ZzhnLst ~
3 100kN/mM#%# 8% % ~ -|3mERZD ~ -| 100kN/mMi%# B2 % ~ -|3mZEEZD ~
zh st ~ Zhn s ~ Zzh st ~ zhnLst ~
4 100kN/mM#%#BZ % ~ -|3mERZD ~ -| 100kN/mM%# B2 % ~ -|3mEEZD ~
Zzhnst ~ Zhn s ~ Zzh st ~ zhnLs ~
5 100kN/mM#%# 8% % ~ -|3mERZD ~ -| 100kN/mMi%# B2 % ~ -|3mZEEZD ~
Zhst ~ Zh s ~ Zzh st ~ ZzhnLst ~
6 100kN/mM#%# 8% % ~ -|3mERZD ~ -| 100kN/mMi%# B2 % ~ -|3mZEEZD ~
Zhnst ~ Zhn s ~ Zzh st ~ ZzhnLst ~
- 100kN/mM#%# 8% % ~ -|3mERZD ~ -| 100kN/mMi%# B2 % ~ -|3mZEEZD ~
zh s 1.00 | 0.00 ~ 573 71.63 | #FhLs | 000 ~ 000|1.71 9.15 Zh s 1.00|5.00 ~ 6.40 71.63 | ThES | 500 ~ 6.40 | 1.71 915
s 100kN/mM##BZ % ~ -|3mZEEZS ~ -| 100kN/m%#EZ % ~ -[3mZEEBZS ~
zh s 1.00 | 0.00 ~ 573 71.64 | #FhLs | 000 ~ 000|1.71 9.15 Thelst 1.00 | 500 ~ 6.40 71.64 | ThES | 500 ~ 6.40 | 1.71 915
9 100kN/mM##BZ % ~ -|3mZEEZS ~ -| 100kN/m%#EZ % ~ -[3mZEEBZS ~
zh s 1.00 | 0.00 ~ 561 70.10 | #FnLS | 000 ~ o0.00| 1.58 8.44 Zhs 1.00 | 500 ~ 6.70 70.10 | ThES | 500 ~ 6.70 | 1.58 8.44
10 100kN/m##BZ % ~ -|3mZEEZS ~ -| 100kN/m%#EZ % ~ -[3mZEEBZS ~
ZzhLst ~ zhLs ~ zhst ~ zhLs ~
17 100kN/mM##BZ % ~ -|3mZEEZS ~ -| 100kN/m%#EZ % ~ -[3mZEEBZS ~
zh s 1.00 | 000 ~ 4.79 59.65 | FhLst | 000 ~ 479|208 11.11 Zhs 1.00 | 5.00 ~ 6.20 59.65 | EnS | 500 ~ 6.20 | 2.08 11.11
12 100kN/m##BZ % ~ -|3mZEEZS ~ -| 100kN/mi%#EZ % ~ -[3mZEEBZS ~
LS 1.00 | 000 ~ 478 59.62 | FhLst | 000 ~ 4.78| 2.08 11.11 ThLLsh 1.00 | 5.00 ~ 6.20 59.62 | EnS | 500 ~ 6.20 | 2.08 11.11
19 100kN/m## 825 | 1.00 | 000 ~ 0.76| 111.39 |3m%x{BZ5 ~ -| 100kN/mZ#Z25 | 1.00 | 1061 ~ 1279 111.39 |3mE#BZ3 ~
Zh st 1001076 ~ 855 100.00| EnLS | 000 ~ 855|225 12.05 Zh st 1.00 | 5.00 ~ 1061 100.00 | =nS | 6.00 ~ 1279 2.26 12.056
14 100kN/m##8Z%5| 1.00| 000 ~ 069 110.34 |3mEEBZD ~ -| 100kN/mi%E#BZ5 | 1.00 | 1053 ~ 1253 110.34 |3mZEEBZ5 ~
Zzh st 1.00 | 069 ~ 848 100.00 | =ns | 000 ~ 848|218 11.67 Zh st 1.00 | 56.00 ~ 1053 100.00 | TnLS | 65,00 ~ 1253|218 11.67
15 100kN/mM%#E% % ~ -|3mZEEZ S ~ -| 100kN/mi%E#BZ % ~ -[3mEEBZS ~
zhnLst 1.00| 000 ~ 773 99.27 | #ns | ooo ~ 773|211 11.30 Zh st 1.00 | 6.00 ~ 10.52 99.27 | NS | 5,00 ~ 1052|211 11.30
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X 4 ﬁ}){ ‘Fﬁﬁb\(?)@ﬂﬁ%ﬁ jj(g')\lj/kn%é X 4 Tﬁﬁ*ﬁﬁg\%%&on;kﬁ ‘(.%r‘n%< jj(g')\;tnié X 4 ;.g,r'na; J:ﬁﬁb\(ﬁ)(btl:% jj(giatr:_%)é X 4 J:ﬁn*m\(i)wtt%' z.%r‘n? t(gifn?)é
100kN/M#%#BZ % - -~ -|3mZEBZS -~ - -| 100kN/m%#8Z% % - -~ - -|3mZ#BZ S -~ -
ZhnLs 1.00| 000 ~ 605 75.77 | Fhs | 000 ~ 000|157 8.59 Zzh st 1.00|5.00 ~ 762 75.77 | #hLS | 500 ~ 762|157 8.39
100kN/mM##BZ % ~ ImEHEZD ~ 100kN/m%Z#8 % % ~ ImEBZD ~
Zhnst ~ Zhn s ~ Zzh st ~ ZzhnLst ~
100kN/mM#%# 8% % ~ ImEBZD ~ 100kN/mM#E#BZ % ~ 3mEHBAS ~
zh st ~ Zhn s ~ Zzh st ~ zhnLst ~
100kN/mM#%#BZ % ~ ImEBZD ~ 100kN/mM#E#BZ % ~ 3mEHBZAS ~
Zzhnst ~ Zhn s ~ Zzh st ~ zhnLs ~
100kN/mM#%# 8% % ~ ImEBZD ~ 100kN/mM#E#BZ % ~ 3mEHBZAS ~
Zhst ~ Zh s ~ Zzh st ~ ZzhnLst ~
100kN/mM#%# 8% % ~ ImEBZD ~ 100kN/mM#E#BZ % ~ 3mEHBZAS ~
Zhnst ~ Zhn s ~ Zzh st ~ ZzhnLst ~
100kN/mM#%# 8% % ~ ImEBZD ~ 100kN/mM#E#BZ % ~ 3mEHBAS ~
zhnLst ~ zhLs ~ zhst ~ zhLs ~
100kN/mM##BZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEEZD ~
zhs ~ zhLs ~ zhst ~ zhLs ~
100kN/mM##BZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEEZD ~
zhs ~ zhLs ~ zhst ~ zhLst ~
100kN/m##BZ % ~ ImEHEZD ~ 100kN/m%#EZ % ~ ImEEZD ~
ZzhLst ~ zhLs ~ zhst ~ zhLs ~
100kN/mM##BZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEEZD ~
zhst ~ zhLs ~ zhst ~ zhLst ~
100kN/m##BZ % ~ ImEHEZD ~ 100kN/m%#EZ % ~ ImEEZD ~
Zzh st ~ Zzh st ~ Zhus ~ LS ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/mM%#BZ % ~ ImEBZD ~
Zh st ~ Zzh st ~ Zhus ~ LS ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/mM%#BZ % ~ ImEBZD ~
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100kN/mM%#E% % ~ IMEHEZD ~ 100kN/mM%#BZ % ~ ImEEZD ~
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